
Prior Learning Assessment  
Addition Year 5 

 
1) Add 1999 and 55.    

 
 
 
 
 
 
 
 

2)  Add 6000, 3000 and 7000.  
 
 
 
 
 
 
 

 
 

3) 120 + 74 + 82 =  
 
 
 
 
 
 
 
 
 
 
 
 
 

 

 

 



4) Complete the sum:  

 
 

5) 8919 + 3403 =  
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6) Find the total of 12982, 7638 and 98231.  

 

 
 

7) 2.99 + 13.80 =  
 

 
 
 
 
 
 
 

          

          

          

          
 

          

          

          

          

          

          

          

          

           

 



8)  Work out the answer to this sum:  
 
 
        +        =  
 
 
 
 
 
 
 

9)Fill in the missing boxes:  
 
1         5   3 
 

+         8           2  

                  
4   1   9 5 

 
 

10) Sophia and Michael want to buy a car each. One car costs 
£19,589 and the other costs £11,429. Approximately, how much 
money will they need to buy both cars?  
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 6.891  
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